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Numeracy Workshop
KS1
Tuesday 6th November

—-‘

49‘




A

Addition

) A"l
SNiw



Make

e

8

2u~‘¢- 30'“43 &4 and 2.

Gop ) @EP

Oondf 1andf  5and)




3+42=5 | m

This should be done on a humber line with the
numbers already on. At home you could use a ruler.
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How would you answer the question
34 + 23=
Show me on your whiteboards
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34 + 23 =57

+10 +10
/\/—\ +1 +1 +1
/e
34 44 54 55 56 57

Always start with the biggest number.
Then split the other number into tens and
units.
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34 +23 =57
+10 +10
/ \ /—\ +3

34 44 54 57




34 +23 =57

In pairs on the whiteboards try to answer the question below
using an empty number line.

45 + 38 =




How would you add 9 to 27?
19?
29?
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49 + 73 =122
+50

-1

73 122 123

In pairs on the whiteboards try to answer the question below
using an empty number line.

39 +63=
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Hundred square
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Number lines

13-5=28
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How would you work out
47 + 23 =
Show me on your whiteboards
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47 - 23 = 24
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47 - 23 = 24




47 - 23 = 24




How would you find the difference
between 2 numbers e.g.

82 and 47?2

Ae.a‘



Counting on

82 - 47 = 35
10 +10 +10
+#1 +1 41 F +1 +1
) SN NS NS N
X Ve

0 47 48 49 50 60 70 80 Bl B2




